C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten

D (9+9)+7+54:9 2) 10(15:5+6)+9 .
2.
3.
4,

3 (8+20:10)+36:4+3 4 6+3(10+8) ]
6.
7.
8.

5 9+15-8(5+13-9) 6) 6(28:7+14:7)+8 .
10.

N 7(5+2)+8 8) 4(6-5+4).9

9 5+10(8+21:3) 10) (6+8)+9+7
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Reihenfolge der Operationen Name:

L dsungsschltissel

L 0se jede Aufgabe.

1) (9¢9)+7+54:9
(81)+7+54:9
81+7+6
88+6
94

3 (8+20:10)+36:4+3
(8+2)+36:4+3
(10)+36:4+3

10+9+3
19+3
22

5 9+15-8(5+13-9)
9+15-8+(18-9)
9+15-8+(9)
9+15-72
24-72
-48

) 7(52)+8
7+(10)+8
70+8
78

9 5+10(8+21:3)
5+10(8+7)
5+10+(15)
5+150
155

2 10(15:5+6)+9
10+(3+6)+9
10(9)+9
90+9
99

4) 6+3(10+8)
6+3+(18)
18+18
324

6) 6(28:7+14:7)+8
6e(4+14:7)+8
6+(4+2)+8
6+(6)+8
36+8
44

8) 4(6-5+4)+9
4¢(1+4)9
4¢(5)9
20¢9
180

10) (6+8)+9.7
(14)+9+7
14+63
77

Antworten

94

99

22

324

/8

180

155

10.

77
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Reihenfolge der Operationen Name:
L 6se jede Aufgabe. Antworten
78 -48 324 99
22 180 94 44 1
1) (9¢9)+7+54:9 2) 10(15:5+6)+9 »
3.
4,
5.
6.
3 (8+20:10)+36:4+3 4) 6+3(10+8)
7.
8.
5 9+15-8(5+13-9) 6) 6(28:7+14:7)+8
) 7(5+2)+8 8) 4(6-5+4)+9
Geandert 1-8 [88]75]63[50[38[25[13] 0 |
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